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Total debtors account is prepared to know :
(A) Credit purchase

(B) Credit sales

(C) Cash sales

(D) None of the above

On seizer of goods by the hire vendor, the
balance of the assets account transferred to :
(A) Profit—loss account

(B) Hire vendor account

(C) Goods repossessed account

(D) None of the above

The maturity period of treasury bill is :
(A) 91 days

(B) 364 days

(C) Both (A) and (B)

(D) None of the above

Indian accounting standards are issued by :

(A) Reserve Bank of India

(B) Central Government

(C) State Government

(D) Institute of Chartered Accountants of
India

Basic objectives of financial management is :
(A) Maximisation of sales

(B) Maximisation of wealth

(C) Maximisation of profit

(D) None of the above

Zero base budgeting was first used in :
(A) United States of America

(B) England

(C) Germany

(D) India

Which of the following is not a basic
principle of accounting ?

(A) Principle of expenses

(B) Principle of full disclosure

(C) Principle of historical cost

(D) Principle of cost and benefit

The most rigorous test of liquidity is :
(A) Current ratio
(B) Absolute liquid ratio
(C) Quick ratio
o (D) None of the above

—
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(C) o< fampy &1 91 & @ fog
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famrar fagar grr we @ Wi w, wRRT @n
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(A) @M @ |

(B) fawmar fasar @m A
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(D) SUGH H W B TEl

ot e @t uRugaar saf & ¢
(A) 91 f&s1

(B) 364 fa71

(C) =FI (A) 3R (B)
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(A) 9Rd Red I

(B) TN WHR

(C) ¥ WRHR
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9. ‘Aplan is a trap to capture the future.” This 9. FRH %9 o7 yder & U TR 79
statement is of : USRI 2 T8 U 2 :
(A) Allen A Gl
& 2
(C) Hurley e
(D) Newman (C) & &l
(D) T T
10.  Principle of indemnity applies in : 10.  afefef @ Rigra @ e &
(A) Life insurance (A) ofae A
(B) Life and fire insurance (B) g va 3 & &
(C) Life and marine insurance : 3
(D) Marine and fire insurance Eg; $ Eg ﬁgﬂ ;:[
11.  Return of investment is computed by : 11, fAfarT R g &t oA @ o @
(A) Profit and investment (A) o9 19 fifyar & grr
(B) Cost of capital and investment (B) i\—,ﬁ B o vd RfER 3 &R
(C) Profit a?dhsalis (C) M T Rt & g1
(D) None of the above .
(D) ST # ¥ B TE
12.  On dishonour, a promissory note does not 12.  3FIRT B9 W Uh yfesT g3 P oeed T8l
require : Ho
Eg; I:Omg_ (A) T Bt
ccepting Fﬂ?f?f
(C) Discounting Eg; W aﬁaﬂ
Vi
(D) None of the above ) i 33 o
13.  Use of LIFO method is suitable at : 13.  TdodMEoHodilo (forml) fafdy & yavT Sugam &
(A) Rising prices (A) P gfg @ T o
(g) Ealling prices (B) ged! DA 3 <91 H
(C) Constant prices ;
(D) All of the above Eg; %ﬂﬁ:ﬁﬁaﬁ < A
14.  The Sale of Goods Act came in force from : 14.  T%] 45T Iy AN g :
(A) 1872 A.D. (A) 18720 %
(B) 1930 A.D. (B) 1930 %0 ¥
(g) }33; i-g' (€) 1932 %0 ®
(D) - (D) 1949 %0 ¥
15.  Verification of assets includes : 15.  gufwal & sy 4 aftefed 8
(A) Physical verification of assets (A) qHfrl &7 Hifde e
(B) Verification of proper value of assets (B) wwRyal & SR T BT T
(C) Verifying that assets are free from any (C) & W T 6 WY TR & gt &
charge D) G’W{i?ﬁ =
(D) All of the above
16.  The section of agreement in restrains of trade 16. R # TPEC Slo dlel TENId B! ORI & ¢
is : (A) 28
(A) 28 (B) 27
(B) 27 (C) 29
() 29 (D) 26
(D) 26
17.  Short cut key for ‘Purchase Voucher’ in  17. 2ot # 7ot aeer @ forg wé-we ool
Tally is : (A) F7
(A) F7 (B) F8
(B) F8 (C) F9
€) F9 (D) F10
(D) F10 indiresult.in whatsapp - 9352018749
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18.

19.

20.

21.

22,

23.

%

Holding company means : 18.

(A) Which holds at least 50 percent shares
of other company

(B) Which holds at least 51 percent shares
of other company

(C) A company controls over the Board of
Directors of other company

(D) Which holds at least 75 percent shares
of other company

The difference between actual cost and 19,

standard cost is known as :
(A) Profit

(B) Differential cost

(C) Variance

(D) Margin of safety

The Institute of Chartered Accountants of 20.

India was established on :
(A) 1 July, 1949 A.D.
(B) 1 April, 1948 A.D.
(C) 1 January, 1950 A.D.

(D) 1 April, 1932 A.D.

The beginning inventory of the current year  21.

is overstated by ¥ 5000 and closing inventory
is over started by ¥ 12000. These errors will
effect net income for the current year by :

(A) T 17000 (understated)

(B) ¥ 17000 (overstated)

(C) T 12000 (understated)

(D) ¥ 7000 (overstated)

When two or more than two companies 22,

doing similar business combine together and
farm a new company to take over their
business than this combination is called :

(A) Amalgamation

(B) Absorption

(C) Reconstruction

(D) Reconstitution

Responsibility accounting is also known as : 23,

(A) Profitability accounting
(B) Activity accounting
(C) Both (A) and (B)

o (D) None of the above
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(A) W I PR B FA W FH 50 wav
39 A URP &

(B) W 3 T B A ¥ B9 51 whov
3T B URS &

©) ® T W I N B AAEd
Hogd ) fAg=or v 8@

(D) S 3 HEA B FH W FH 75 whavd
39 B URD B

IRAfA® AN SR Y9 AR @ R & Fad
g

(A) o™

(B) WSTH® AT

(C) fammm

(D) gR&m & |

T FRITYE AT S [Py A goear
P! TG §3 -

(A) 1 T8, 1949 30 B

(B) 1 3V, 1948 30 B

(C) 1 a9, 1950 S0 BT

(D) 1 3, 1932 30 @I

TG 9§ &7 IRMS wierr T 5000 ¥ ARF
9T AT B v9 oifom vefar T 12000 @ @
T T B | ¥E oA a9 @ ge I
W PG STe

(A) T 17000 (9 51¥)

(B) T 17000 (s 3f¥fa)

(C) T 12000 (FH 3f¥a)
(D) T 7000 (3@ &)

A

INDIRES

K\

IR e @ e /g AW ¥ FEid
s 8 ?

(A) STETIHAT BT

(B) frardhear aien

(©) 3 (A) 3R (B)

(D) U4 & § g TE
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24,

25.

26.

21

28.

29.

S

Which of the following pairs is wrong ?
(A) Goodwill - Intangible asset

(B) Oil well — Wasting asset

(C) Preliminary expenses — Fictitious asset
(D) Stock in Trade — Liquid asset

If financial leverage is 1.32, then by what
percentage will taxable income increase if
EBIT increase by 6% ?

(A) 22%

(B) 13.2%

© 12%

(D) 7.92%

A partnership firm sold a residential house,
under which Section the firm can get
exemption a long-term capital gains ?

(A) Section 54

(B) Section 54 D

(C) Section 54 F

(D) Section 54 EC

If in a process, normal loss is 10%, abnormal
wastage is 100 units, output is 8,000 units,
then number of units introduced in the said
process will be :
(A) 8,900 units
(B) 8,910 units
(C) 8,690 units
(D) 9,000 units

Which type of audit is more suitable where
there is no satisfactory system of internal
check ?

(A) Continuous audit

(B) Interim audit

(C) Cost audit

(D) Tax audit

The name of third partner in the case of
Garner versus Merry dispute was :

(A) Smith

(B) J.S. Mill

(C) Wilkins

(D) Irving Fisher

Which one of the following is not an
inventory valuation method :

(A) Weighted average price method

(B) Last In First Out method

(C) Balance sheet method

25,

26.

.7 3

28.

29,

30.

o m

ouUR
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SUCCESS
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i = 74

freiferied # & a1 g™ e & ?
(A) @I — 3 wwafy

(B) U &1 FH3il — &Ieied Wy
(C) URMPS g — W TRy
(D) W& — TR GHRY

Ife fofe s 1.32 & T‘I‘fs‘toffo&l'lgoao 7
6% dlg 8 W FX Ag I # fae wioea
gfg arft ?

(A) 22%

(B) 13.2%

(€) 12%

(D) 7.92%

UF GRGN BH A AT q6H 99| B B
fe oRT @ Sfia GO @M W @R ¥ g A
w8 ?

(A) 9T 54

(B) ©RI 54 Slo

(C) ©RT 54 Yo

(D) ©RT 54 Fodilo

Ife faxlt wfbar & 9w &9 10%, MM
g9 100 HIEAT, SUET IPEAT 8,000 B,
I Uiha & o T gersat B G g
(A) 8,900 gHTZAT

(B) 8,910 14T

(C) 8,690 3BTEAT

(D) 9,000 3HTEAT |

DL BT P TG S el & 7

(A) FR@R g

(B) &g e

TR M W fae & O 98eR &1 99 v
(A) fa

(B) WoUHo i

() fafers

(D) FfET R

frefafen 4 9 a9 3G douem fafdy
Tl E

(A) wiRa aird qeg oy

(B) 91 ¥ [T Ut WA fafdy

(C) anidie fagr fafdy

°, (D) First In First Out method
D) Ugel 37T Ygel o fafdy
(%)INDIRESULTE "
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31.  Which of the following is not a current asset? 3. FRH 9N EIGH TR TR E ?
(A) Furniture (A) TR
(C) Sundry debtors e e
32.  Goodwill is : 32. wfdg:
(A) Current assets (A) T g9fy
(B) Fixed assets (B) T [y
(C) Intangible assets Gy
(D) Fictitious assets Eg; 31"1; &
33.  Cost accounting is part of: 33. ST oG M §
(A) Financial accounting (A) faxia EET H
(B) Managerial accounting (B) WEHP orE@ieT &
(C) Both (A) and (B) :
(D) None of the above Eg)) a;hz (A_‘; iifhﬂ?f(g) ot

34, When a contract is 50% complete, the 34. Wg 3TH 50% T’xf %, LS L1 1 A O o
amount of profit to be taken credit of will be: f=faRad o9 Bfee & o6 & ¢
(A) Full amount of profit estimated A aﬂ'ﬁrﬁﬁ WD CC
(B) 50% of the estimate profit EB; Cﬂ'ﬂ'lﬁﬁ ST @ ;I:;%

(C) Two third of the earned profit C) a7 @ R
(D) None of the above (€ :
(D) ST & W Bl 7

35. Which is not the technique of Capital 35. @M Uil TR fITelyr & qH1d el & ?
Structure Analysis ? (A) HdT W AR
(A) Trading on equity (B) [‘i\—lﬁ faee
(B) Capital gearing <
(C) Capital budgeting (([:)) % a%“ HWGE '

(D) Cost of capital (D)

36. According to Company Act 2013, it is 36.  HHAI fEE 2013 B IR, 3w e W

required to pay maximum interest rate on IRPaH & B X <7 Bl
calls in advance : (A) 5%
(A) 5% (B) 10%
(B) 10% ©) 12%
©) 12% (D) 15%
(D) 15%

37. What will be quick ratio ? If current 37. Rd UM FT B ? A AL AU=3:1,
ratio = 3:1, stock = ¥ 30000, total current A =% 30000 el mﬁﬂfﬁa:z 60000
liabilities = ¥ 60000 (A) 3:1
(A) 3:1 (B) 2.5:1
(B) 2.5:1 (C) 2:2
(€) 2:2 (D) 1:2.5
(D) 1:2.5

38.  Ifthe total assets increased by ¥ 1,50,000and ~ 38. It & & o af d ga wwhwr #
the total liabilities increased by ¥ 60,000 in % 1,50,000 T A Tfdeat § T 60,000 B gﬁg
the same accounting period, the capital in 2 ar 39 o 98 fi\-,ﬁ :
that accounting period would : 000 ¥ T S
(A) Decrease by ¥ 90,000 Egg : gg,OOO A 72 o
(B) Increase by ¥ 90,000 ™ ’ 3 i
(C) Decrease by T 60,000 (©) 60,000 T Te S
(D) Increase by 60,000 (D) % 60,000 ¥ F& WA

69/106 d 135 indiresult.in whatsapp - 9352018749 A5
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39. Which account is prepared to find out the 39. af<w v @ U 1T & @ foU -
amount of closing stock ? WA 99197 JaT & 7
(A) Head office account (A) 5= Fraterg @

(B) Branch account (B) RET W
(C) Memorandum stock account (C) TR W T
(D) None of the above ,

(D) SUYH # ¥ PIS TEI

40. Following transactions were made by a 40. U® @uN 4 4 @Er 53| 370 Reg o8
:)roadli:r. I.?Iug;o these transactions total of sales &1 AFT BT

ok wi ; : -
(i)  Sold goods to Gupta =¥ 4,000 8) g j\r ma:_q,a?m ;:,3(;05 000
(ii) Sold goods to Shyam on cash =% 5,000 i) AT B =2 ’
(iii) Sold goods to Mohan on credit=Z 7,000 (iii) SHR WIS 99 =X¥7,000
8 T
B = 16408 O 1o
(C) T 12,000 O * 1
(D) % 9,000 (D) ¥9,000

41.  Balance of share forfeiture account is shown — 41. 3@ & (=) @ & 99 @ g § yelf
in the balance sheet under the item : g oI £
(A) Current liabilities and provisions (A) I TRE T Teu 7T B iad
(B) Reserve and surplus (B) W W@ SRR w7 & s
(C) Share capital account e & giwiy
(D) Unsecured loan Eg GTETFS»ﬁ;IJTIﬁ-T% e

42. Which of the following ratios is favourable ~ 42. faw=ifoRed Ul & & B arura e Rerfdy
indication, if it is low ? B! yefdid ovar & 3fe a8 v ?

(A) Operating ratio (A) Hare T

(B) Operating profit ratio (B) WA Y

(C) Fixed assets turnover ratio

(D) Current ratio Eg; f@ﬁﬁ WY S 3

43.  Income tax was levied in India first by which 43, 4= # ¥ fds grT wRa # w99 Ugel 3TN
of the following ? ST AT ?

(A) Sir James Wilson (A) W O fiemq
(B) Sir James

(C) Sir Newton (B) W i

(D) Sir Lucas Paciolo E[C); $ % R

44. Memorandum joint venture account is a : 44, FUF 'ﬂ'g?ﬁ TEH W@ §

(A) Personal account (A) @R @
(B) Real account (B) Iafdd @
(C) Nominal account (C) A @l
(D) Joint account ;

(D) ¥ &

45.  When one company goes in liquidationanda ~ 45. U& &% $1 FH09 &1 AR 3 G qEd
new company is formed to take over the F B 9 e i 39 B7 e B
business of the company, which goes in foro & frar T B, FEeTAT ¥
liquidation, this is called : (A) THERT
(A) Amalgamation \

(B) Absorption (B) e
(C) External reconstruction (©) d= W
(D) Internal reconstruction (D) =iRe gAfafor
69/106 | indiresult.in whatsapp - 9352018749 A-6
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46.

47.

48.

49,

50.

51.

Fixed cost per unit increase when :
(A) Variable cost per unit increase
(B) Variable cost per unit decrease
(C) Production volume increase
(D) Production volume decrease

In case of non-agreement of trial balance the
amount temporarily put to :

(A) Stock account

(B) Debtors account

(C) Creditors account

(D) Suspense account

Debt
Equity
(A) Lower financial risk
(B) Higher degree of operating risk
(C) Higher degree financial risk
(D) Higher earning per share (EPS)

Higher debt equity ratio [ ] results in :

According to the concept of conservation, the

stock-in-trade is valued at :

(A) Cost price

(B) Market price

(C) Cost or market price whichever is
higher

(D) Cost or market price whichever is lower

Goods sent by the head office to the branch,
but not received by the branch till closing
date of accounts year. In this case, head
office will place credit to :

(A) Goods in transit account

(B) Trading account

(C) Goods sent to branch account

(D) Branch account

Royalty payable to lessee is debited to :
(A) Royalty account

(B) Landlord account

(C) Profit and loss account

(D) None of the above

The expenses on the debit side of trading
account is called :

(A) Establishment expenses

(B) Purchasing expenses

(C) Manufacturing expenses

« (D) Selling expenses

(%) INDIRESULTE
69/106
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46.

47.

48.

49.

50.

- 1A

52.

(D) IO W@ ¥

o O .
SaT FU AT I [ﬁ] gRer # &l
g

A) = fxlo wifew

(B) S= WRIY Hare WIRgH

(C) v= WY faxim wifew
(D) S= W wfY 39 3 (FodtorHo)

AGET B wiedned] Dl R B IFIAR
ARG W G e a1 T e -

(A) TN U W

(B) WK o4 W

(C) TTH YaT II9R g a1 A o ARF &
(D) WFTA AT IR qod IH1 4 Al $9 8

T HrEfed gRT ITET $I A wor 74, fhg
TG §NT W 9% FR @) Y 96 9% ww
T e o w@r| G oRRufaal A owiE
BT HfeT P :

(A) #Ft ¥ A6 @

(B) @NUR @

(C) ITET B AT HH Bl Gl

(D) AT @

TEER! ERT ¢ PR Yed & MmeRd fbar
W &

(A) IRFR Yob @ A

(B) WM & @ #

(C) aM—=I @ A

(D) S # & g 7L

RS T TH 98 3 Al 3 ded @ ¢
(A) RIUT @™

(B) %4 TWRI &Y

(C) TUEH &Y

(D) fama 2w

indiresult.in whatsapp - 9352018749
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53.  Which of the following errors is not  53. f # ¥ - it qorve gnt yae T
disclosed by trial balance ? BT e ?
(A) Compensating errors 7% &Tﬁ"ﬂ{% Gﬂf?a'm
(B) Errors of principles (B; dere mm
(C) Errors of omission ( e
(D) All of the above Eg; 11?[[ S st
54. Cost of goods sold from the following 54. fA=ifdd Waﬁ ¥ 99 T AT B A
information will be : S
Opening stock ¥ 3,700, Purchase ¥ 1,20,000, TRE W T 3.700. H9 T 1.20.000
Closing stock ¥ 2,500 . S
Jifm W % 2,500
(A) ¥23,300 (A) T 23,300
(B) ¥ 20,800 (B) ¥ 20,800
(C) ¥22,000 © ?22’000
(D) None of the above g
(D) S9YH ¥ ¥ DI TE
55. In final accounts abnormal loss of stock is  55. f<A @@l § WP @ JEuRT &y ord
entered in : o B
(A) Trading account only (A) DI ANUR @R A
(B) Profit & Loss account only :
B) &ad am-g @ §
(C) Both (A) and (B) ( C) 24 (A &gﬁB
(D) Balance sheet ED)) 2 wg ) (B)
56.  Which of the following is not the source of  56. f=feiRad # 1 AP &7 G T2 & ?
cash ? (A) I TRl &1 B
(A) Purchase of fixed assets (B) WO ® Y
(B) Funds from operation (C) F TH & Criow
(C) Issue of fixed assets : A
(D) Sales of fixed assets (D) ! et
57.  If royalty payable ¥ 18,000, short working ~ 57. af& 37 et ¥ 18,000, g™ VA T 9,000
¥ 9,000, minimum rent will be : &1, aw fRmar 8
(A) Zero (A) I
(C) 18,000 (C) % 18,000
58. What is transferred to hirer under hire 58. fdwmm Hy wgfy & fovw @@ &
purchase system ? TN BT & ?
(A) Ownership of assets (A) ?:F:q'f%f G2l wﬁa
(B) Possession of assets (B) TRy BT ARER
(C) Ownership and possession of assets & & R
(D) None of the above Eg; l ? 3 o :%?n
59.  The separate record maintained for each item  59. yR% W& @ oy @ TAOT WE e W
:l:)t a{pjars on the financial statement is the : oy faevor 4 velfa 8T 2, 98 Feam &
edger A) &
(B) Account EB; & el
(C) Chart of accounts ©) @ a7
(D) None of the above . :
(D) SUYH ¥ 9§ B T
60. The software company promoted by  60. HRET ﬁﬁ ERT ¥ad HCaR T ¢
Narayana Murthy is : (A) famr
(A) WIPRO B) TP
(B) INFOSYS ®)
(C) TH
(C) SATYAM e
69/10, 135 A-8
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61.  Branch adjustment account is prepared by : 61. E ARG QT 9T O R
(A) Dependent branch (A) 33T 9IRET ERT
(B) Head office of dependent branch (B) 3fd T & YU FEie gRT
(C) Head office of independent branch (C) W I & W PR BN
(D) None of the above :
(D) SUGH # ¥ P Tl
62. If profit is 25% on cost price, then profit on  62. IR TW AN TG 91 25% g @ fawy Ll
sale price will be : W ™ 8N :
(A) 20% (A) 20%
(B) 30% (B) 30%
(C) 33%% (C) 33%%
(D) 40% (D) 40%
63.  Which of the following is not a cash inflow 2 63,  fr=ifoiied ¥ ¥ FF—wr Ive aratg 78t & ?
(A) Decrease in trade receivables (A) oeR # FH
(B) Issue of shares (B) a9t @7 ffa
(C) Decrease in trade payables (C) AR & B
(D) Sale of fixed assets X
(D) ot ity @ faspt
64. If the shares are forfeited the share capital — 64. I 3@ &1 &7 fobar T &1, afer Goft @ma
account is debited by : M fear S
(A) Face value of shares (A) m a} ;Hﬁﬁ' ]1c—,q qu
(B) Paid up value of the shares o
(C) Called up value of the shared (2) m‘f%lﬁg ZJTT %?{ —‘;
(D) Issue price of the shares =)
(D) 3 frifieT e 9
65.  Which of the following is a source of funds ?  65.  f=foiRed # & S TRFT (Bv) &7 @i & ?
(A) Issue of equity shares (A) GHaT 39 foiee
(B) Issue of preference shares (B) 3 aiyr faefas
(C) Issue of debentures s e
(D) All of the above (%) s
(D) STH
66.  Under which section a company auditor is ~ 66. T& Hw sfderd @ g fbw o1 & afefa
appointed ? DA ?
(A) 224 (A) 224
(B) 228 (B) 228
(€) 230(a) (C) 230(%)
(D) 251 (D) 251
67.  Discount allowed on the re-issue of forfeited ~ 67. T IR I 7 TR T W & T BE 3fF
shares cannot exceed : T2 8 Haal
(A) 10% of the paid up capital (A) Ve ‘q‘f,ﬁ FT 10%
(B) 10% of the capital re-issued . & o
(C) The amount received on forfeited share (2) It Wﬁjﬁtﬁi :?—rrﬂlg%
(D) The amount not received on forfeited (©€) i« !
" (D) el ¥R W U 7 g8 W
68. Balance of forfeited shares account after re-  68. W& fhd T 3o & g ot & T 3
issue of forfeited shares is transferred to : W G b Y B SERd B g7 o
(A) Statement of profit and loss (A) @™ g faewor &
(B) Capital reserve account o o ;
(C) General reserve account (2) WHﬂgﬁ@g 3
. (D) None of the above © R
(#INDIRESULTE D)
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69.

70.

71

72,

73.

74.

13,

76.

Y Ltd. is the subsidiary of X Ltd. Z Ltd. is

the subsidiary of Y Ltd. The relation between

X Ltd. and Y Ltd. is that of :

(A) No relation between X Ltd. and Z Ltd.

(B) X Ltd. is the holding company of Z Ltd.
but Z Ltd. is not its subsidiary company

(C) Z Ltd. is also a subsidiary of X Ltd.

(D) Y Ltd. is the subsidiary of both the
companies

The term ‘Fund’

analysis means :

(A) Cash only

(B) Total Assets

(C) General Reserve

(D) Current Assets — Current Liabilities

Which of the following ratios are taken into

consideration by a banker before sanctioning

the loan ?

(A) Proprietary ratio

(B) Stock — Turnover ratio

(C) Debt — Equity ratio

(D) Allof the above

Which type of audit is conducted throughout

the year ?

(A) Annual audit

(B) Interim audit

(C) Continuous audit

(D) Complete audit

Winding up of the company is by :

(A) Closure of business

(B) Sale of assets

(C) End of legal existence

(D) Articles

Contribution —9
Earning Before Interest and Taxes (EBIT) ’
(A) Financial leverage
(B) Operating leverage
(C) Composite leverage
(D) None of the above

as used in fund flow

According to the cost concept, that the assets
are always valued at :

(A) On cost price

(B) On market price

(C) On purchase price

(D) None of the above

Gratuity received by a government employee
is:
(A) Fully taxable
(B) Exempted up to ¥ 5,00,000
(C) Exempted up to ¥ 20,00,000
*, (D) Exempted up to X 3,50,000

69.

70.

71.

72,

13

74,

Ts

76.

X fdo @ Y fdfo WEG FF B

Y fofo @ wer@ 9 81 X fofo Y

TR E

(A) X fdfo T& Z foto # @18 gy et &

B) X foo Z foto o TR Tl & Afdw
Z o IS TERT HH Tol &

(C) Z o X féto B f wers de 2

(D) Y foro <1 # were B @

Py YaTE favelyur § WY@ BN IR I ARM &

2P N

o Pf

FO B ™ ¥ g 9 gr ffoRaa
W & Srgurl BT & H < o g ?
(A) w@fie
(B) T 3T
(C) U GHT ST
(D) SWIH a1
e YPR &1 Perr g W el & ?
(A) af® sidmeror
(B) 3R\ aideror
(C) e e
(D) T s
S BT FAG B
(A) @UR 95 TR |
(B) wwfrdr s7 &
(C) e RaE W 8 9
(D) J=ifadr gRr
e -
BT AN @W(ﬁoﬁ’foﬂﬁoao) o
A) o ST
(B) uRaErem Sdrem
(C) b S
(D) SW # W Pig T
AN R B
T B W g
(A) WFT o T
(B) 9NR H{ed WX
(C) &Y eI W
(D) SHW # ¥ P T
TF WHR FHAR! I U U (=g @
¥y Bt &
(A) i R I
(B) % 5,00,000 TF TR qad
(C) ¥ 20,00,000 T PN Fad
(D) % 3,50,000 T® T Had

FeREr g
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77.

78.

9.

81.

82.

83.

84.

o

69/

80.

Fixed cost per unit increases when : 77. X3 TG Wiy 3§ 'c[ﬁ‘a' BT 8, 09 ¢
(A) Scale of production decreases (A) ST BT AE g2 |
(B) Scale of production increases (B) SR P AE 9 W
(C) Both (A) and (B) (©) i ( A) AN (B) '
(D) None of the above (D) I 3§ P T
The person who first published the principles ~ 78. &Y oi@l Yool & fygidl @ yoM YaRd
of doubles entry system was ? R g Afeg B o7 ?
(A) Lucas Pacioli (A) o My
(B) Alfred Marshall (B) aEhe I
(C) F.W. Tayler SR
(D) Henry Fayol (€) Thosedo
(D) &1 BAA
An agreement without consideration is : 79. yfiwd e oM & ¢
(A) Valid (A) ¥
(B) Voidable B) =g
Eg)) i EC; T
one of the above :
(D) 3UYH # ¥ P T
Under which heading of balance sheet, is  80. WH™ wug @ afde R @ &g o A
general reserve shown ? feamy smar & ?
(A) Share capital T
(B) Reserve and surplus g;; %TEE o
(C) Miscellaneous expenditure © s
D he above
(D) None of't D) ! 5 o
When shares are forfeited, share capital 81. 9 39 PI oI fbar O B, A IW ‘iﬁﬁ eI |
account is debited by : 3! ameRd foar omar 2
(A) Issue price of shares (A) 3 @ Fifa qeu J
(B) Called up amount of shares (B) aistt @ g T -
(C) Paid-up amount of shares st 3 3
(D) Market price of share (©) e g el
(D) 3T & TR o4 ¥
If the loan from wife is assumed to be given 82, IR} Te gRT f&F W =1 &1 S9! A
out of her personal property, then position of gy § R REIRIE] forar oy & 09 wor @t
such loan is like : Reafyy a2 2
(A) Unsecured creditor E@f@lﬁ
(B) Preferential creditor () mﬁ;
(C) Fully secured creditor B) T !
(D) Partly secured creditor (© T’h I AR @
(D) 39 R AR B
A.D.R.s are issued in : 83. ToSlodRo WY fhd ol & :
(A) Canada (A) PeT |
Eg; f‘:ﬂi}la (B) & ¥
ndia :
(D) United States of America Eg)) %ﬁﬂw i
Opening capital ¥ 45,000, closing capital  84. uRf¥¥® ol T 45,000, 3ifom Toit T 75,000,
T 75,000, withdrawal ¥ 10,000 and fresh JERV T 10,000 T TG \“Pﬂ T 5,000 &
capital T 5,000. Profit will be : HUE
(A) X 1,05,000 (A) T 1,05,000
(B) ¥ 25,000 (B) % 25,000
. (© 15,000 (©) % 15,000
J'(D) ¥ 35,000 (D) ¥ 35,000
/ !oul SUCEEST PARTNER indiresult.in whatsapp - 9352018749
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85.  Depreciation is provided on : 85. &Y &I WIAT R :
(A) Fixed assets (A) Il gEREl ®
(B) Current assets (B) WW W
(C) Intangible assets P
(D) All of the above Eg; Ej - s
86. Human resource management include(s) : 86. WY WERH yew # AfHferd & /8
(A) Recruitment (A) et
(B) Selection (B) T
(C) Training e
(D) All of the above ES; x -y
87. Internal auditor is appointed by : 87. IN® oRE-ied 1 MY o TR B
(A) Board of Directors (A) WEed AUSH gRT
(B) Shareholders (B) eeRal gR
(C) Control Government (©) 3% WHR ENT
(D) Company Secretary
(D) ®F A gRT
88. In which section of Indian Contract Act, a  88. WRdN ey IRfZH & &y or1 & =i
contract without consideration is void : vwd & a1 fovar a7 ogvg @ &
(A) Section 25 (A) YRT 25
(B) Section 10
(C) Section 23 g 95
(D) Section 2(d) (C) R 23
(D) T 2(8)
89.  Rebate on bill discounted is : 89. ¥R W RUAf W gL & :
(A) An income (A) I
(B) An income received in advance (B) W ure amg
(C) Accrued income
(D) Liability EIC))) 3 A ST 3
90.  Sales to Ram ¥ 500 posted to his account as ~ 90. ¥® & T 500 ¥ a1 F @AM 99 @ A
T 50 would affect : ?SOQﬁﬁ,WWW:
(A) Sales account (A) fawg @mn
(B) Ram’s account
(C) Cash account (g) %m Rl
(D) Profit & Loss account ED; WQ‘?;TTﬁf s
91. Who has coined the net operating income  91. ol &R&M & "¢ URAEA I Rigra e
theory of capital structure ? e femrmar g ?
(A) Gordon (A) e
(B) Hudson
(C) Durand (£} 55
(D) Walter © :"252:3
(D) dlee}
92. A citizen of India, who goes abroad for the ~ 92. U WRAW AFIRG W Taay # ISR &g faawr
purpose of employment, he must stay in WA e U ot g9 & T ARg § W @
India to become resident at least : F9 AT BN ;
(A) 182 days (A) 182 e
(B) 90 days B) g0 fost
(C) 60 days (B)
(D) 180 days (C) 60 fo
(D) 180 f&=
135 A-12
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93.  Formula for operating leverage is : 93. gRaEme favw Ik e R

E.B.LT. Fodloamgodio
(A) A) ———t
P.B.T A) fodlodto
G o
(B) B) ————
EBLT ®) oo
B.E.P.
(C) ( C) ﬂoﬁo‘ﬂo
e {oftoamiodto
(D) None of the above (D) G'Q'{j?ﬁ ¥ 9 T8

94, Which one of the following is not a non-cash 9. =AY A @ ﬁ?—-m T TR R ?
item ? (A) 3w %O B forg sraw
(A) Provision for bad debts (B) @R FT ATerE
(B) Goodwill written off ©) &

(C) Depreciation
(D) Cash sales (D) @5 fapa

95.  High financial leverage is a blessing when : 95. S faxiiy Suee a9 amfiele €, &9 :

(A) The earnings are more than the cost of (A) 31 fi\—,ﬁ A a3 e B
debt S

(B) Earnings are less than the cost of debt (B) &4 ?,EUT %’rﬁ il Y ikl Eﬁ; o

(C) Earnings equals the cost of capital (C) 33 Toil 3l & & W

(D) There is inflation (D) HaT VOR &

96.  Trial balance discloses : 96. TUC Ydhe N B ¢
(A) Errors of omission (A) BT 9N P gl
(B) Errors of commission (B) é‘@\ e argfeat
(C) Errors of principles ©) w W
(D) Errors of balances : 3

(D) 913 9T @ Sryfegdr

97. Purchased a machinery for ¥ 2,000 but  97. ¥ 2,000 A 7 H7 B T Ay By @ B
debited to purchase account is : aeRa o T g s &
(A) Clerical error (A) ey 3@%

(B) Error of principle
(C) Compensating error (2) gt SR
(D) None of the above © &lﬁlf{iﬂi ‘Q’P{I%
(D) SUgH A ¥ Bl TE

98.  Test checking reduces the : 98. TR WG BH B &
(A) Work of an auditor (A) IDYIH B B P
(B) Liability of an auditor (B) derd & g @Y
(C) Both (A) and (B) , :

(D) None of the above Eg mi (Af)i ?\';{3(5%) -

99. In which policy of working capital 99. FEd o & wEEE B fbw MY B T
management, the permanent current assets Rl EIGH gy &1 fagaw aﬂ;ﬁﬁ:{ o
are financed by short term financing ? D gN P ST R ?

(A) Conservative policy (A) wRar A

(B) Aggressive policy : NS

(C) Moderate policy (B)

(D) All of the above (C) |MF A
(D) UG Wi

100. Who has given the formula P = ﬁ; for  100. Fmrer Ay Freior & fog g3 P = Kf

determining dividend policy ? fegr o ?
(A) Modigliani — Miller (A) AR — e
(B) James E.Walter (B) T So TR
(C) Myron Gordon ”
(D) David Durand 8 éﬁq \ gf:'
135 indiresult.in whatsapp - 9352018749 A-13

69/1 OE//)

INDIR

YOUR ll.ll:l‘.' !S FARTNER



IVHS

J %
indiresult.in whatsapp - 9352018749 ( !N nDsIu cce =§H RTNER

8. U GE I @ ford 1.0 37 fa I | AT 9K 9 W 0.25 3% Pl o AR i v @1 o s
T fomr & S B A A fear S|

1.0 mark will be given for every correct answer. On giving wrong answer 0.25 mark will be deducted and if
question is not attempted by the candidate, no mark will be awarded.

9. IR R w@ I oo A forell yor B Rfy ot @ o ofih oo & s w9 A e

If there is any mis-match in Hindi & English version, then english version will be finally acceptable.

10. 339 F0THR Te T FfTd IR W € freT T | S0THNRY e 79T FE-IRIE | P aia e
T e 3R 7 & w8 W A qum W ord | 78 N e v 9n 5 e AR sfea fer e @ e o
mmmﬁ&ﬂwmﬁm#mmmﬁatlmmﬁmﬁ#wwwm

|

Make the mark only in the space provided on the OMR Sheet. Don’t make any stray mark or your name on any
part of the question booklet and OMR Sheet. It should also be kept in mind that trying to hide any circle by
erasing or scratching in any method is prohibited. Negative marks will be given for such acts.

11.  Fo a1 sad WA Raa | € e o
Rough work is to be done in the Question booklet only.

12. YRS U9 $ IaR o A A0 Red B FIER (@ & g 31 1 TIR W | 1@ | 3 R T gl 7 9
T T P e fe S Ted IR A A |
Darken only one circle corresponding to alternative answer that you choose for each question, as darkening of
more than one circle shall be treated as wrong answer.
FETER : F ooy el g @1 vee W 41 g9 UeR 2
Example: Suppose Q.No. 41 of the subject is as below:

QNo.41:  What type of mixture is smoke ? g3l gy @1 fasor @ 7
(A)  Solid mixed with a gas (A) T b o
(B) Gas mixed with a gas (B) w ff¥m
(C)  Liquid mixed with a gas (C) a fif¥a g
(D) Gas mixed with a liquid and a solid (D) %@ 19 o fafa W

I AP FIER T v I 9 Sax/Rew (D) & aﬁm‘rowoamm#wmﬁmfﬁaf’m—m
PR Ue W& 41 T G B I BT 39 UBR W |
If you think the correct alternative answer is (D), then fill in the relevant column of the same section of the OMR

Sheet as follows:
w8 AR (Correct Method) o i (Wrong Method)

(@fe 7o oy @ o foslt ow Mt F 2% Fres o T @ A w6 IR @ Wy foew @ AR & aER o
IR A gL AT IR B A 0.25 3T FIET R )

(If more than one circle is darken or any impression by the candidate either properly or improperly then 0.25 mark
will be deducted for every question.)

13. T H SoEsie /Ao dageiey aUl I SATiE WM oY A B, TR, 99 W N gt & wae
‘{Ufﬁz aford 2|
Use of electronic/manual calculator or any electronic equipment like mobile phone, pager, watch and pen etc. is
not allowed.

() T R RS A BT WA 8| TS T SR B oY 0.25 3 HIET |
There is a provision of NEGATIVE MARKING in this examination. For every wrong answer 0.25 mark
will be deducted.

(i) TS WE B QA QY I TR A R A RS 3T T WAE | T A T IR P AR 0.25 3P
P TR
On giving of two or more than two answer for every question, 0.25 mark will be deducted.

(i) T TR § AW g, T I AR T ol @ AfaRaw g 7 fod|
Do not inscribe anything except the Roll Number, Examination Centre and Rough Work in this question
booklet.

(iv) T G B G ATHIAR THE B HR OFe 3 W W A A IR-IR R | apelt oty @Y opedf e
WY & I A e a7 orien i v e @ Suee st

Fold along perforation, given on the top of OMR Sheet and tear it slowly after examination is over. Candidate
will carry candidate’s copy and handover the original and office copy of OMR Sheet to the invigilator.
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